
Philips Technical Paper Questions 
 

Q1. ASSERT b>0 c>0 if b > c a = b/c /*path 1*/ else a = c/b /*path 2*/ ASSERT a > 1  
 

a) Path 1 is right.  
b) Path 2 is right.  
c) Both are right.  
d) None are right. 

 
 
Q2. ​​The accesses of a set of page is given and the maximum number of pages is 4.                  
How many cache misses? 
 
 
Q3. ​​If there are 15 software functions and atleast 5 of them are defective. Then find out                 
the probability that no error will be there if three functions are chosen and tested. 
 
 
Q4. Suppose you want to create a file in a dir in UNIX. What should you have?  
 

a) Read Permission  
b) Write  
c) Execute  
d) Own the dir.  

 
 
Q5. ​​If channel bandwidth is given as 37 kHz. Find the maximum frequency of data that                
you can transfer over the channel.  
 
 
Q6. ​​Give the output of the following program, On fun(n) {unsigned long n=3D~0 For (i=               
3D0; n>>1)! = 3D0; i++) } 
 
 
Q7. What is Java?  
 

a) Compiled language  
b) Interpreted language  
c) Multi-threaded  
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d) Object Oriented.  
 
 
Q8. How much data you can transmit over a line of baud rate 2500 bauds?  
 
 
Q9. What is the output of this C code? 
 
    ​#include 
    struct point 
    { 
        int x; 
        int y; 
    }; 
    void foo(struct point*); 
    int main() 
    { 
        struct point p1[] = {1, 2, 3, 4, 5}; 
        foo(p1); 
    } 
    void foo(struct point p[]) 
    { 
        printf(%d %d , p->x, p[3].y); 
    } 
 

a) Compile time error 
b) 1 0 
c) 1 some garbage value 
d) None of the mentioned 

 
ANS:​​ c 
 
 
Q10. What is the output of this C code? 
 
    ​#include 
    struct student 
    { 
        char *c; 
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    }; 
    void main() 
    { 
        struct student s[2]; 
        printf(%d, sizeof(s)); 
    } 
 

a) 2 
b) 4 
c) 16 
d) 8 

 
ANS:​​ d 
 
 
Q11. What is the output of this C code? 
 
    ​#include 
    struct point 
    { 
        int x; 
        int y; 
    }; 
    void foo(struct point*); 
    int main() 
    { 
        struct point p1[]  =  {1, 2, 3, 4}; 
        foo(p1); 
    } 
    void foo(struct point p[]) 
    { 
        printf(%d , p[1].x); 
    } 
 

a) Compile time error 
b) 3 
c) 2 
d) 1 
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ANS:​​ b 
 
 
Q12. What is the output of this C code? 
 
    ​#include 
    struct point 
    { 
        int x; 
        int y; 
    }; 
    void foo(struct point*); 
    int main() 
    { 
        struct point p1[] = {1, 2, 3, 4, 5}; 
        foo(p1); 
    } 
    void foo(struct point p[]) 
    { 
        printf(%d %d , p->x, (p + 2)->y); 
    } 
 

a) Compile time error 
b) 1 0 
c) 1 some garbage value 
d) undefined behaviour 

 
ANS:​​ b 
 
 
Q13. What is the output of this C code? 
 
    ​#include 
    struct point 
    { 
        int x; 
        int y; 
    }; 
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    void foo(struct point*); 
    int main() 
    { 
        struct point p1[] = {1, 2, 3, 4}; 
        foo(p1); 
    } 
    void foo(struct point p[]) 
    { 
        printf(%d , p->x); 
    } 
 

a) 1 
b) 2 
c) 3 
d) Compile time error 

 
ANS:​​ a 
 
 
Q14. What is the output of this C code? 
 
    ​#include 
    struct point 
    { 
        int x; 
        int y; 
    } p[] = {1, 2, 3, 4, 5}; 
    void foo(struct point*); 
    int main() 
    { 
        foo(p); 
    } 
    void foo(struct point p[]) 
    { 
        printf(%d %d , p->x, p[2].y); 
    } 
 

a) 1 0 
b) Compile time error 
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c) 1 some garbage value 
d) Undefined behaviour 

 
ANS:​​ ​​a 
 
 
Q15. What is the output of this C code? 
 
    ​#include 
    struct point 
    { 
        int x; 
        int y; 
    }; 
    void foo(struct point*); 
    int main() 
    { 
        struct point p1[] = {1, 2, 3, 4, 5}; 
        foo(p1); 
    } 
    void foo(struct point p[]) 
    { 
        printf(%d %d , p->x, (p + 2).y); 
    } 
 

a) Compile time error 
b) 1 0 
c) 1 some garbage value 
d) Undefined behaviour 

 
ANS:​​ ​​a 
 
 
Q16. What is the output of this C code? 
 
   ​ #include 
    struct point 
    { 
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        int x; 
        int y; 
    }; 
    void foo(struct point*); 
    int main() 
    { 
        struct point p1[] = {1, 2, 3, 4}; 
        foo(p1); 
    } 
    void foo(struct point p[]) 
    { 
        printf(%d %d , p->x, ++p->x); 
    } 
 

a) 1 2 
b) 2 2 
c) Compile time error 
d) Undefined behaviour 

 
ANS:​​ ​​b 
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